Bell Ringer - Solve the linear system.

A business rents in-line skates and bicycles to tourists on
vacation. A pair of skates rents for $15 per day. A bicycle
rents for $20 per day. On Monday, the owner of the business
has 25 rentals and takes in $450. Write and solve a system of
equations to find the number of each item rented.
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3)Slve  15(25-y)+ 20y = 450
315- 5y + 20y = 450
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l‘?sf subsHiution x=10

Solution: 10 pairs of in-line skate rentals and
15 bicycle rentals.



Chapter 11-5 Multiplying Rational Expression Notes

Things to consider:

- look to simplify by canceling

- remember to use the integer and exponent rules

- may have to factor out a variable, number, or an expression (parentheses)
- multiply numerators together then denominators together
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Simplify
3. 8x

X*+4x + 4










Simplify

4. 3X Xx-6
[ ]
X2 - 2% - 24 6x2 + Ox
Fﬁ' f.-}'a'l'" fi;‘ht‘"

S ——

(’VC)(X*‘{) E? (ct3) (xw) ax+3)



Simplify
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smplty ~ Factor with dox method
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